CLICK & DRAG THE NUMBERS TO
COMPLETE THE TAPE DIAGRAM.

A (uDCAke peclpe cups of flour
CALLS foR 4 CuPS of 0
- OUR ANd 2 CuUPS of
IF 52 CUPS of fLouR.
- PW MuCH SU9AR
W Juld SHe Need to
keep tHe RAtio
equivALeNt if SHe
uSeS ALL tHe fLouR
CHe HAS?

cups of sugar




TYPE THE RATIO OF FIAMINGOS TO PINEAPPLES
IN ALl THREE WAYS.

fo




TYPE THE RATIO OF EGGS TO

TEA
SPOONS OF VANILA IN ALL 2 WAYS

French Toast

5 eQgs
3/, CUP milk
2 TBSP cinnamon

g vanila together in

geat €99 milk, cinnamon

bow!. DiP each side the pread N the mixture &

cook on medivm high heat until golden prown.
to | #




? CLICk & DRAG THE RATIOS TO SHOW

WHICH ARE CORRECT VS. INCORRECT.
ON tHe 6 9RAde CAMPIND {RiP, tHeRe ARe 2 AduL1S fOR eveRY
Il StudeN+S. WHA+ iS tHe RAtio of AduLtS +o StudeN+S?




L4 CUCK & DRAG THE SHAPES TO MAKE A RATIO,

tHe RAtio of HeAR+S to totAL SHAPeS iS 28




IN'A FISH TANK, THERE ARE 5 STARFISH FOR
EVERY U PIRANHAS. T)’PE ? EQUI\//\[ENT RATIOS.




©  DRAG A CIRCLE OVER THE CORRECT ANSWER

tHe RAtio of BoyYS to 9iRLS iN tHe 6t 9RAde iS 2 o 4.
if HeRe ARe 29 BoyS, How MANY JiRLS ARe {HeRe?

o'

S
52 40 7



| TYPE YOUR ANSWER

iIN MRS. SMitH'S CLASS, eveRY tiMe you tURN iN |0
ASCIONMeN+S you eARN | HoMewoRK PASS. WRite 2
eQuivALeNt RAHOS of tuRNed iN ASSiIONMeN1S o
HoMewoRk PASSeC.

I 2 3




Q CLCK ¢ DRAG THE VALUES TO COMPLETE THE TABLE

At tHe 9RoCeRY StoRe, 2 BAIS of CHiPS (oSt $6. CoMPLete tHe tABLe.

2 $6
$9
6
$24

10




TYPE THE ANSWER BY EACH PERSON.

At tHe CoS+Co™ food CouRt, A £AMILY CAN PURCHASe 4 Hot do9 MeALS
foR $6. WHA¢ S tHe CoSt PeR PeRSoN?




TYPE THE MISSING NUMPRERS ON THE

TAPE DIAGRAM TO HELP ANSWER THE QUESTION.
duRIN9 A MARAHHON, A CeR1AIN RUNNeR HAS RuUN 25 MiLeS iN 5 HOURS.

time (hours)

0 S

0 # # # # #

distance (miles)

How long did it take the runner to F fype your answer here j

run 15 miles?




TYPE THE ANSWER IN THE BAG

At tHe StoRe, fiNLAY
BOUJHt 48 ouN(eS of
CANdy foR $4. How
MANY ouN(eS C(ould He
BuY foR $I1?

/ type answer
, here



P, TYPE THE ANSWERS IN THE TABLE

A PACKkA9e of oReoS™
HAS 51 CookieS. if +HeRe
ARe 2 RowS of CookieS

iIN €ACH PACKAQe, How

MANY CookieS ARe iN
eACH Row?

WHA+% if tHeRe weRe
fouR RowS of CookieS
- How MANY CookieS
would Be iN A PACKAQe?

&

How many cookies
in1row?

Aees

How many would be
in a package
with 4 rows?




I? CLICK & DRAG THE NUMBERS TO

COMPLETE THE TAPE DIAGRAM.

A CuPCAke Re(ipPe cups of flour
CALLS foR 4 cuPSof  ©
fLOUR ANd 2 CuPS of

HAS 2 CUPS of fLouR.
How Mud(H SU9AR cups of sugar
would SHe Need to ] 2 05 1 4 3l
Keep tHe RAtio :::1'::"::?::”:?55::"::l::"::?::"::?::"::(:)::' :
cauvALeNtif SHe | 1351 2 1 3 155251 5 1 61|
uSeS ALL #He flouR Lttt ToTmmrTmT TR AIATIIIII AT
QHe HAQ'-) How much sugaris needed? type answer here S



|4 DRAG A CIRCLE OVER THE CORRECT ANSWER

you'Re HAVINTG A BBQ tHiS weekeNd, ANd Yyou'Re iN (HARQe

of tHe HAMBUR9eR MeAt. tHeRe iS A SALe wHeRe You CAN

PURCHASEe 5 POUNdS of MeAt £foR $10. At HHiS RAte, How
MANY PouNdS Could You Buy foR $207?

o O 20 /5
25 29 20



15 TYPE YOUR ANSWER

ON AveRAQe, A PeRSON SPeNdS $240 eveRY 2 MON+HS oON

{HeiR CelLL PHoNe BiLL. WHA} would tHe PRiCe foR | MON+H

Be? How MucCH would tHiS PeRSoN PAY oveR +He CouRSe
of |YeAR?

type answer here type answer here



|© TYPE YOUR ANSWERS TO COMPLETE THE TABLE

CtuARt oWNS A WiNdow WASHIND BuSiNeSS. He CAN WASH $He wiNdowS
ON 9 HouSeS iN 4 HouRS. At +HiS RAt+e, How LON9 would it tAke HiM to
WACH +He wWiNdowS oN 45 HouSeS? How MANY HouSeS (oulLd He WASH

iN 12 HOURS?
Number of Houses Time (Hours)
9 4
type answer here 8
27 type answer here
type answer here 16
45 type answer here




I-, TYPE YOUR ANSWERS TO COMPLETE

THE TABLES AND TYPE A RESPONSE.
At WALMARY™, you CAN BuY 8 Hot do9 BUNS £oR $2. A+ CoStCo, You
CAN BuY tHe SAMe Hot do9 BUNS, But tHey ARe $5.60 £OR 16. USIND
tWo 1ABLeS, deCide wHO HAS +He BetieR deAL!

Walmart
Number of Hot :
Price
Dog Buns
8 $2 16 $5.60
# # # #
# # # #
# # # #

Who sells the cheapest hot dog bun? type answer here



|g TYPE YOUR ANSWER IN THE SPEECH BUBBLES.

AMY CAN RUN tHe 150 MeteR dASH iN 50 SeCoNdS. JOHN CAN RUN 1200
MeteRS iN 400 SeCoNdS. WHo RUNS £ASteR PeR SeC(oNd?

Who runs
the fastest?

type answer
here

type answer
here

type answer
here




|q CLICk & DRAG THE DRINK S

INTO THE CORRECT COLUMN.

YouR PAReN+S ARe iNteReCted iN tHe AMOUNt of SUJAR iN two
dRiNKS. tHe APPLe juiCe HAS 216 IRAMS of SUJAR foR eveRy @
CeRVINIS. tHe SodA HAS 234 9RAMS of SU9AR foR eveRY Q
CeRViNIC. CALCuLAte WHiCH dRiNK HAS MoRe € WHICH dRiNK HAS

LeCC SUJAR PeR SeRViIN9.
' APPLE JUICE | =
o
______________ )
SODA &
O
=




0 TYPE YOUR ANSWERS.

tHe WORKMAN'S £AMILY CAR +RAveLS 165 MiLeS oveR 2 HOuRS.
HeiR CouSiNS' £AMILY CAR tRAveLS 150 MiLeS oveR 2 HouRS. if
tHe £AMIiLY ReuNioN iS 900 MiLeS AWAY £oR BotH £AMiLieS, ANd
ASSUMIND BotH £AMILieS CoNtiNue At tHe SAMe RAteS, wHo wilL
ARRive £iRS+? WHA¢t iS +He SPeed of eACH £AMILY?

WHA¢ iS tHe
COUSIN'S
SPeed?

WHoO ARRiveS
fiRS+?

’rypé dnswef here




